Find the values of the variable which sausfy the following equations.

[ x—4 = 5 12
Y+ 3 =7 3
82 Sx.= 35

4 Ta=2l 14
S Sx =30 15
6 4da= -2 16
7 17y = SI

§ llx= —-44 !
9. Sx = 0 8
100 —x =38 19
Il —-T7a= -14 20
31 8x—4 = 28

32 4x+7 = 2x+20

33 9y—5 = Sy+3S§

34 17a-35 = 13a-19

35
36

Sx+3 =2(x+12)

Ty—2) = S(y+4)

Solve these equations.
41

42 x(x-3)= x*+18

x+2_ X

43 3 -

44 4 =

45 124+8m—-4 =0

Answers

1755
2]
25. y
29. m=4%

33. y=10
37. x=12
41. x=10§
4s.
49. x

\
X
\
13, x=
X
X
)

8(x—4)—2(x+1) = 3

X

6x

S 21 = =12
\ :
Ve 6 22 —-9a = =27
23 Sy = 4y-3
2a = 7 :
} 24 Ix—10x = 12
3t = 10 ?
X el 20 D=y
v -
-0 7 S
3 3 172
6x—2x = 16 28 a+2a-6a = —-15
2a—5a = 9 29 15m = 10
10x —4x = 36—12 30 Ov—18 = 6x
D AATRS
37 = ==+1
344
2a-3
38 —— =17
9
-3 x-2
39 == = =<
4 5
2t —1 {—1
40 — = 1 +—
4 5
4
0 46 |+3 =
X X
47 3(2t—=7) = 4(t—-1)
Sy i
48 TEZ oy 3O
2 3
: Sy
8 16
SO0 24y —33y+4)+2 = 10(4—y)
2. y=4 . x=7 4. a=3
6. a= -5 7. y=3 8 x=-4
10. x=-8 1l. a=2 12. x=8
14. a=3} 15. t=3} 16, x=2
18. x=4 19. a=-3 20. x=4
22. a=13 23, y=-3 24, x=—4
26. y=4 27. x=4 28. a=S5
30. x=6 31. x=4 32. x=64
34 a=4 35. x=17 36. y=17
38. a=19 39. x=7 40. t=3
42. x=—-6 43. x=4 44, a=2%
46. x=1 47. 1=8} 48. x =43
50. y=2



